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QUESTION 1

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column on the primary array indicates
PSUS. What are three CCl commands that put the TrueCopy pairs in this status? (Choose three.)

A. pairsplit -r from primary
B. pairsplit -e from primary
C. pairsplit -r from secondary
D. pairsplit -S from secondary
E. pairsplit -e from secondary

Correct Answer: ACD

QUESTION 2

A customer is planning to use Universal Replicator for Disaster Recovery of a normal transactional database (e.g.
Oracle, DB2). Which two must be included in the same Journal Group? (Choose two.)

A. data files

B. transaction logs

C. database dumps
D. application binaries

Correct Answer:. AB

QUESTION 3

Command Control Interface (CCI) is being used to manage TrueCopy and Shadowlmage pairs. An error has occurred,
but there is no indication of the error in any of the CCl HORCM logs or traces. Which two locations could be checked for
CCl error messages? (Choose two.)

A. the UNIX syslog

B. the Windows event log

C. the UNIX CCI installation directory

D. the Windows CCl installation directory

Correct Answer: AB

QUESTION 4
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During a Copy-on-Write SnapShot (CoW) implementation, a customer asks you to demonstrate the Quick Restore
functionality of the software. CCI for this environment is installed on a UNIX host using korn shell and the Cow CCI
device group is COW_db01. Which statement is correct?

A. This is not possible using Copy-on-Write SnapShot.

B. Use the pairresync -g COW_db01 -fq normal -restore commands.

C. Use the export HORCC_REST=NORMAL,; pairresync -g COW_db01 -restore commands.

D. Use the export HORCC_REST=COW_QUICK; pairresync -g COW_db01 -restore commands.

Correct Answer: A

QUESTION 5

A customer is concerned about a large number of changes being made daily to production systems over a period of
three weeks. The customer decides to make Copy-on-Write SnapShot copies of the database at the start of every day
to easily restore the most recent version should it be necessary. Each copy must be kept for one week. The average
change to the database is 10 percent daily. The database is 10TB in size. Which two considerations are relevant?
(Choose two.)

A. The pool should be defined as being 7TB in size.

B. The pool should be defined as being 10TB in size.

C. The pool should be on separate parity groups than the production volumes.

D. The pool should be defined on the same type of RAID groups as the production database.

Correct Answer: BC
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